



JESUS AND MARY SCHOOL AND COLLEGE
CLASS-12(COMM.)
  ( ACCOUNTS )                                                                                                                         
CHAPTER NAME – ACCOUNTING FOR PARTNERSHIP FIRMS-FUNDAMENTALS

INTRODUCTION-
The partnership form of business organization grew out from the limitations of sole proprietorship.
When the business expands, one man is unable to arrange the financial resources and bear the risks.
He cannot supervise and manage all the functions of  business personally. Therefore, two or more persons join hands and combine their capital and skill to start and run a business.
Thus partnership is an extension of sole proprietorship.

RECORDING OF PARTNERSHIP TRANSACTIONS
As in the case of a sole proprietorship concerned a partnership firm will also prepare Trading Account, Profit & Loss Account and Balance Sheet at the end of every year. The only difference between accounting of  a sole trader and partnership firm is that the profits of the partnership firm are divided among the partners. Usually, for this purpose, the profits as per Profit & Loss Account is transferred to a newly-opened account, namely ‘ Profit and Loss Appropriation Account’ and entries for interest on capital, interest on drawing, salary to partners and division of profits among the partners will be passed only in that account.

SPECIMEN OF PROFIT AND LOSS APPROPRIATION ACCOUNT
PROFIT AND LOSS APPROPRIATION ACCOUNT
for the year ended_ _ _ _
Dr.                                                                                                                                                    Cr.
	Particulars
	₹
	Particulars
	₹

	To salaries of Partners
To commission to Partners
To Interest on Partner’s Capital
A
B
To reserve A/c 
To Profit transferred to :
A’s capital A/c
( Or A’s Current A/c )
B’s capital A/c
( Or B’s Current A/c )

	
	By Profit and Loss A/c
( Net profit transferred from P & L A/c )
By Interest on Drawings :
A
B
	



JOURNAL ENTRIES –for various items are as follows:-
1. Entry for transfer of Net Profit to Profit & Loss Appropriation Account:-
                                     Profit and Loss A/c                                           Dr.
                                                    To Profit and Loss Appropriation A/c
( Net profit transferred )
2. Entry for Interest on Capital:-
(i) On allowing Interest on capital :
                                     Interest on capital A/c                                         Dr.
                                                    To Partner’s capital A/c
( Interest on capital allowed )



(ii) On closure of Interest on Capital A/c:
                                     Profit and Loss Appropriation A/c                                           Dr.
                                                    To Interest on capital A/c
3. Entry for Interest on Drawings:-
(i) On charging Interest on Drawings:
                                     Partner’s capital A/c                                           Dr.
                                                    To Interest on Drawings A/c
(ii) On closure of Interest on Drawings A/c :
                                     Interest on Drawings A/c                                           Dr.
                                                    To Profit and Loss Appropriation A/c
4. Entry for salary or commission Payable to a partner:
(i) On allowing salary or commission to a partner:-
                                     Partner’s salary/commission A/c                                           Dr.
                                                    To Partner’s capital  A/c
(ii) On closure of salary or commission to a partner A/c:
                                     Profit & Loss Appropriation A/c                                           Dr.
                                                    To partner’s salary/commission A/c
5. Entry for transferring a part of profit to Reserve:
                                     Profit & Loss Appropriation A/c                                           Dr.
                                                    To Reserve A/c
6. Entry for transfer of credit balance of Profit & Loss Appropriation A/c:-
                                     Profit & Loss Appropriation A/c                                           Dr.
                                                    To Partner’s capital or current A/c s

RULES APPLICABLE IN THE ABSENCE OF PARTNERSHIP DEED

In the absence of a Partnership Deed or verbal agreement, or if the partnership deed is silent on a certain point, the following provisions of Partnership Act, 1932 will be applicable:-
1. Profit Sharing Ratio:- Profit and loss are to be shared equally irrespective of their capital  
                                           contribution.

2. Interest on Capital:- No interest on capital shall be allowed to the partners.

3. Interest on Drawings:- No interest is to be charged on drawings.

4. Salary to a Partner:- No partner is entitled to any salary or commission for taking part in running 
                                        the firm’s business. 

5. Interest on loan:- Interest at the rate of 6% per annum is to be allowed on a partner’s loan to the 
                                   firm.

QUESTIONS AND THEIR SOLUTION
Q.1. A, B and c are partners in a business and their capitals are ₹ 4,00,000; ₹ 3,20,000 and ₹80,000 respectively. The partnership deed provides that:
i) C gets ₹ 40,000 as annual salary.
ii) B gets ₹ 30,000 as commission.
iii) Interest on capital be provided @ 10% p.a.
iv) Interest on drawings be charged @ 10% p.a.
v) Profit be divided in the ratio of 2 : 1 : 1.
Interest on capitals: A ₹ 40,000, B ₹ 32,000 and C ₹ 8,000. A sum of ₹ 38,000 was to be transferred to the reserve.
Interest on drawings: A ₹ 6,000, B ₹ 5,000 and C ₹ 4,000. 
The profit for the year ending 31st March, 2017 without taking into account the above facts is ₹ 3,73,000. Prepare Profit and Loss Appropriation Account for the year ended on 31st March,2017.

Solution:- 
                                               Profit and Loss Appropriation Account
-for the year ended 31st March, 2017
	Particulars
	₹
	Particulars
	₹

	To C’s salary A/c 

To B’s Commission A/c

To Interest on capital A/cs
A                                         40,000
B                                         32,000
C                                            8000

To Reserve A/c

To Profit transferred to:

A’s capital A/c 2/4          1,00,000
B’s capital A/c ¼               50,000
C’s capital A/c ¼               50,000
 
	40,000

30,000




80,000

38,000





2,00,000
3,88,000
	By profit and loss A/c ( Net profit )

By Interest on Drawings A/c s

A                                               6,000
B                                               5,000
C                                               4,000
	3,73,000





15,000








_______
3,88,000




Q.2. Arun and Barun are partners in a firm sharing profits and losses equally. Their capitals on 1st April,2015 were  ₹ 4,80,000 and ₹ 5,40,000. On 1st October,2015 they decided that the total capital of the firm should be ₹ 10,00,000 to be contributed equally by both of them. Interest on capital is allowed to the partners @ 6% p.a.
You are required to compute interest on capital for the year ending 31st March, 2016.

Solution:       Calculation of interest on capital :-
 Arun : From 1st April,2015 to 30th September,2015 =                        14,400
            From 1st October,2015 to 31st March,2016 =                           15,000
                                                                                                                                                    29,400
Barun : From 1st April,2015 to 30th September,2015 =                        16,200
             From 1st October,2015 to 31st March,2016 =                           15,000
                                                                                                                                                     31,200

 
WORKSHEET -1
(Based on rules discussed and questions solved)
Question 1: Name any six items which are shown in ‘Profit and Loss Appropriation Account’
Question 2: In the absence of Partnership Deed what are the rules relating to:
1. Interest on partners capitals.
2. Interest on loan given by a partner.
3. Profit sharing ratio.
4. Interest on partner’s drawings.

Question 3: 
Krishna and Radha are partners in a firm. State whether the claim is valid if the partnership agreement is silent in the following matters:
1. Radha wants interest on capital to be credited @ 6% per annum.
2. Krishna has contributed ₹ 20,000 and Radha ₹ 50,000 as capital. Krishna wants equal share in profits. 
3. Radha had advanced a loan to the firm. She claims interest @ 10% per annum. 
4. Krishna is an active partner. He wants a salary of ₹ 15,000 per year. 
Question 4: Girish and Satish are partners in a firm. Their capitals on April 1, 2019 were ₹ 5,60,000 and ₹ 4,75,000 respectively. On August 1, 2019 they decided that their capitals should be ₹ 5,00,000 each. The necessary adjustment in the capitals we made by introducing or withdrawing cash. Interest on capital is allowed at 6% per annum. 
You are required to compute interest on capital for the year ending March 31st, 2020. 
(Answer: Interest on capitals: Girish - ₹ 31,200 and Satish - ₹ 29,500)
Question 5: X,Y and Z are partners in a firm. Their capitals as on April 1st, 2019 were ₹ 5,00,000, ₹ 4,00,000 and ₹ 3,00,000 respectively. On July 1st, 2019 they introduced further capitals of ₹ 1,00,000; ₹ 80,000 and ₹ 50,000 respectively. On February 1st, 2020 Y withdrew ₹ 15,000 from his capital. Interest is to be allowed @ 8% per annum on the capitals.
Compute interest on capital for the year ending March 31st, 2020. 
(Answer; Interest on capitals: X - ₹ 46,000; Y – 36,600 and Z – ₹ 27,000)
Question 6: What entries will be passed to record the following transactions in the books of the firms A and B before distributing the profits earned?
1. Interest on capital: A - ₹ 3,000; B - ₹ 2,000.
2. Interest on drawings: A - ₹ 800; B - ₹ 1,000.
3. Salary payable to A - ₹ 3,000 per annum.
4. Transfer to General Reserve - ₹ 4,000.
Question 7: Som, Mangal and Shani are parntners in a business and their capitals are ₹ 40,000; ₹ 32,000 and ₹ 8,000 respectively. The partnership deed provides that:
1. Shani gets ₹ 4,000 as annual salary.
2. Mangal gets commission ₹ 2,400.
3. Interest on capital – Som ₹ 2,000; Mangal ₹ 1,600 and Shani ₹ 400.
4. Drawings of Som ₹ 12,000; Mangal ₹ 10,000 and Shani ₹ 8,000.
5. Profit is to be divided in the ration 2:1:1.
The profit for the year ending March 31st, 2009 without taking into account the above facts is ₹ 34,400.
Draw Profit and Loss Appropriation Account. 
(Answer: Divisible profit - ₹ 24,000)
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